INDEX

HEATERS
MSHEET APPLICATION PART NO. DESCRIPTION 12v 24V BTU DIMENSIONS
NO. RATING WxDxH
1 AREA HEATER HV213140 AUXILIARY HEATER X 19263 11.8X8.3X8.2
2 AREA HEATER HV213146 LOW PROFILE HEATER X X 19800 14X82X53
3 AREA HEATER RV212036 COMPACT HEATER X 20382 10.7X7.7X83
4 AREA HEATER HV213208 AUXILIARY HEATER X 22000 10.56 X10.3X7.6
5 PRIMARY CAB HV211348 MODULAR HEATER X 22089 10.8X8.8X9
HEATER
6 PRIMARY CAB HV210480 MODULAR HEATER X 22089 8.2X84X88
HEATER
7 AREA HEATER HV212153 LOW PROFILE HEATER X 22400 11.3X6X8.6
8 AREA HEATER HV211368 COMPACT HEATER X X 22673 8X9X84
9 AREA HEATER HV211752 HEATER X X 23438 10X10X76
10 AREA HEATER HV211759 HIGH PERFORMANCE HEATER X X 25312 16 X8X7
1 AREA HEATER RV212436 MODULAR DUCTED HEATER X 25601 11.2X11.2X7.9
12 AREA HEATER RV212426 REAR TRAVEL HEATER KIT X 25,601 10.7X10X7.8
13 PRIMARY CAB HV213212 PRIMARY CAB HEATER X 30654 123 X173 X 17
HEATER
14 AREA HEATER HV213267 HIGH PERFORMANCE HEATER X 36547 10.7 X11.56 X9.3
15 PRIMARY CAB HV212824 PRIMARY CAB HEATER X 37125 20.4 X10.1 X 10.1
HEATER
16 AREA HEATER HV211753 HIGH PERFORMANCE HEATER X X 39375 156 X11.5X7.6
17 AREA HEATER HV213107 HIGH PERFORMANCE HEATER X 40159 11.8X11.4X 91
18 AREA HEATER HV213266 HIGH PERFORMANCE HEATER X X 41625 10.7X13.2X9.3
19 AREA HEATER HV213268 HIGH PERFORMANCE HEATER X 48801 17.2X10.7 X 9.3
20 AREA HEATER HV213269 HIGH PERFORMANCE HEATER X 75705 23.2X10.7X93
21 BLOWER HV210482 AUXILIARY BLOWER X X 100 CFM 6X6X7.2

=

TEMPCON




FAX: 616-361-9646

701 ANN STREET N.W. ARE
GRAND RAPIDS, MI 49504 HEﬁTeR
$ TELEPHONE: 616-361-2681 ’

TEMPCON

A COMPACT HEATER WITH GOOD
PERFORMANCE. IT CAN BE MOUNTED UNDER
A SEAT, DIRECTLY ON THE CAB FLOOR.

8-3/16
14

/)\AIR ~ AIR FLOW

W\‘ | 5-5/16

AIR FLOW

WATER CONNECTIONS: 5/8” HOSE
FIN & TUBE CORE

HV213146 HEATER PACKAGE (12V)

PART NO. AMP DRAW | VOLTAGE l SPEEDS SHIP WGT
HV213146 19,800 185 6.8 12 1 14 LBS
HV213203 19,800 185 3.4 24 1 14 LBS

Sheet 2



701 ANN STREET N.W.
HV213146(12V) *Q’f? GRAND RAPIDS, Mi 49504
HV21 3203 (24V) $ TELEPHONE: 616-361-2681

: -361-9646
HEATER SERVICE PARTS LIST N

TEMPCON

ITEM SERVICE DESCRIPTION QTY ITEM SERVICE DESCRIPTION
NO. PART NO. NO. PART NO.

1 HV224000 | HEATER ASSEMBLY - 12V 1 8 HV218069 | FAN 6” AXIAL 1

HV224146 | HEATER ASSEMBLY - 24V 1 9 HV224001 | WRAPPER ASSEMBLY 1
2 HV223998 | COVER ASSEMBLY 1 10 GM120614 | #10-32 NUT 2
3 HV025482 | #8-18 X 1/2 SCREW 4 11 GM178378 | #10 LOCK WASHER 2
4 BL011856 | CELL FIBER 2-1/2” WIDE 1.843” 12 HV211457 | MOTOR ASSEMBLY - 12V 1
5 BL001614 | 1/2 X 1” FOAM TAPE 6” HV2213%94 | MOTOR ASSEMBLY - 24V 1
6 FT200237 | HEATER CORE 1 *13 HV025506 | GASKET 1
7 BL001606 | 3/4 X 3/4 FOAM TAPE 5” *14 HV031854 | INSTRUCTION SHEET 1

NOTE: ITEM 1 INCLUDES ITEMS 2 THRU 12 *FURNISHED LOOSE IN PACKAGE

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to

“Accessories” in the general catalog.



701 ANN STREET N.W. AREA
GRAND RAPIDS, MI 49504 HEATER
TELEPHONE: 616-361-2681

FAX: 616-361-9646
TEMPCON

THIS VERSATILE, COMPACT HEATER CAN BE
MOUNTED ON A FLOOR OR SIDE WALL. EXCELLENT
FOR EITHER CAB OR CARGO AREA HEATING.

8-1/4 \& /g\ﬂ 27/32

8 -7/32

WATER CONNECTIONS: 5/8” HOSE
FIN & TUBE CORE

HV213140 HEATER PACKAGE (12V)

PART NO. ! CFM | AMP DRAW | VOLTAGE | SPEEDS SHIP WGT

HV213140 19,263 161 3.9 12 1 9LBS

Sheet 1



701 ANN STREET N.W.
HV213140 GRAND RAPIDS, MI 49504
HEATER QO TELEPHONE: 616-361-2681

SERVICE PARTS LIST FAX: 616-361-9646

TEMPCON

ITEM NO. SERVICE PART NO. DESCRIPTION QTYy

HV223991 HEATER ASSEMBLY - 12V 1
1 BL011927 3/8 X 1” FOAM TAPE 13.5”
2 FT200236 HEATER CORE 1
3 GM271169 #10-32 HEX NUT 2
4 GM446152 #10 FLAT WASHER 2
5 HV029783 FAN 7” 1
6 HV032812 #8-18 X 1/2 SCREW 8
7 HV034629 CORE MOUNTING BRACKET 2
8 HV223990 MOTOR ASSEMBLY 1
9 HV223992 WELDED CASE ASSEMBLY 1

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.



FAX: 616-361-9646

701 ANN STREET N.W.
GRAND RAPIDS, MI 49504
$ TELEPHONE: 616-361-2681

TEMPCON

PRIMARY
CAB
HEATER

THIS PRIMARY HEATER IS IDEAL FOR A SMALL CAB. DOORS OPEN TO
CONTROL HEAT FLOW. COMES WITH BOTH 2” & 2.5” COLLARS THAT
ALLOW DUCTING TO REMOTE AREAS FOR DEFROST, ETC. OUR
OPTIONAL HV210482 BLOWER PROVIDES ADDITIONAL DEFROST BOOST!

HV210482 (REF.)
BLOWER ASSY.

; %12V

HEATER

i

~—
‘///

¥

T

8-7/16

HV210480 HEATER PACKAGE (12V)

8-13/16

WATER CONNECTIONS:

5/8" HOSE

FIN & TUBE CORE

PART NO. | BTU'S AMP DRAW | VOLTAGE | SPEEDS | SHIP WGT
HV210480 22,089 173 4.50 12 2 14 LBS
HV210820 22,089 173 2.25 24 2 14 LBS

Sheet 6




701 ANN STREET N.W.
HV210480 (12V) GRAND RAPIDS, MI 49504
HV210820 (24V) $ TELEPHONE: 616-361-2681

HEATER SERVICE PARTS LIST TR O s

TEMPCON

ITEM SERVICE DESCRIPTION QTyYy ITEM SERVICE DESCRIPTION QTyY
NO. PART NO. NO. PART NO.
HV210481 HEATER ASSY - 12V 1 HV210821 HEATER ASSY -24V 1
1 HV210472 | SHELL ASSY 1 12 HV205436 | LEAD WIRE ASSY 1
2 FT200028 | HEATER CORE 1 13 HV210475 | MOTOR ASSY, 12VOLT 1
3 HV210596 | COLLAR, 2” DIA. 2 HV210640 | MOTOR ASSY, 24 VOLT 1
4 HV210476 | SHROUD PLATE ASSY 1 14 HV210474 | FRONT COVER ASSY 1
5 AMO083504 | FAN,7” 1 15 HV032838 | #8-18 X 1/2 SCREW 16
6 HV022843 | MOTOR BRACKET 1 *16 GM271184 | 5/16-18 NUT 3
7 GM120614 | #10-32 HEX NUT 2 *7 HV020089 | 2-SPEED SWITCH, 12VOLT 1
8 GM178378 | #10 LOCKWASHER 2 HV019768 | 2-SPEED SWITCH, 24 VOLT 1
9 GM446152 | #10 WASHER 1 *18 RV218468 | 7/16 NUT 1
10 HV026848 | 1/4-20 X 5/8 SCREW 2 *19 HV218054 | KNOB 1
11 HV020658 | CONNECTOR 1 *20 HV033774 | COLLAR 2-1/2” 2
NOTE: HEATER ASSEMBLY INCLUDES ITEMS 1 THRU 15 *FURNISHED LOOSE IN PACKAGE

12V SWITCH, NUT, & KNOB ARE SEPARATE PARTS , 24V SWITCH INCLUDES NUT & KNOB

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.




701 ANN STREET N.W. AREA
GRAND RAPIDS, MI 49504 HEATER
$ TELEPHONE: 616-361-2681

FAX: 616-361-9646

TEMPCON

A LARGE CAPACITY, DUAL FAN HEATER WITH DIRECTIONAL
LOUVERS FOR EVEN AIR FLOW. FLOOR MOUNTED, IT’S A GREAT
UNDERSEAT BUS HEATER OR LARGE AREA CARGO HEATER

/\ 15 - 9/16
/\ ;

11-1/2

()
~< 7 - 5/8

Ll

N 2
py
M
=
)
2

WATER CONNECTIONS: 1" HOSE
FIN & TUBE CORE

HV211753/HV213150 HEATER PACKAGE (12V)

PART NO. AMP DRAW | VOLTAGE SPEEDS SHIP WGT
HV211753/HV213150 39,375 349 11.0 12 1 26 LBS
HV211754/HV213151 39,375 349 5.6 24 1 26 LBS

Note: HV213150/HV213151 are same unit with bottom discharge.
Note: HV211753/HV211754 are same unit with back discharge

Sheet 16



HV211753 (12V) / HV211754 (24V)
HV213150 (12V) / HV213151 (24V)
HEATER SERVICE PARTS LIST

BOTTOM DISCHARGE

o

TEMPCON

701 ANN STREET N.W.

GRAND RAPIDS, MI 49504

TELEPHONE: 616-361-2681
FAX: 616-361-9646

Qry ITEM SERVICE DESCRIPTION Qry
PART NO. NO. PART NO.
HV224007 HEATER ASSY - 12V, BOTTOM DISCHARGE 1 9 SP006147 WIRE CABLE CLIP 1
HV224008 HEATER ASSY - 24V, BOTTOM DISCHARGE 1 10 HV210581 SHROUD PLATE ASSEMBLY 1
HV224009 HEATER ASSY - 12V, BACK DISCHARGE 1 11 HV210475 MOTOR ASSEMBLY - 12V 2
HV224010 HEATER ASSY - 24V, BACK DISCHARGE 1 HV210640 MOTOR ASSEMBLY - 24V 2
1 HV210583 SHELL ASSEMBLY 1 12 HV026848 1/4-20 X 5/8 SCREW 4
2 HV210582 MTR SHROUD ASSY - 12V ONLY 1 13 AMO083506 FAN 2
HV210573 MTR SHROUD ASSY - 24V ONLY 1 14 HV022943 MOTOR BRACKET 2
3 FT200238 HEATER CORE - BACK DISCHARGE 1 15 HV021990 CHANNEL RUBBER 9”
FT200243 HEATER CORE - BTM DISCHARGE 1 16 HV020658 CONNECTOR 2
4 HV004108 GROMMET 2 17 HV008215 CHANNEL RUBBER 7.5”
5 HV205436 LEAD WIRE ASSEMBLY 1 18 GM446152 WASHER #10 2
6 HV205439 LEAD WIRE ASSEMBLY 1 19 GM178378 LOCKWASHER #10 4
7 HV023181 TOP COVER 1 20 GM120614 NUT #10-32 4
8 HV025482 SCREW #8-18 X 1/2 14 21 HV031854 INSTR SHEET ’ 1

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.




701 ANN STREET N.W. AREA
GRAND RAPIDS, MI 49504 HEATER
$ TELEPHONE: 616-361-2681

FAX: 616-361-9646

TEMPCON

A COMPACT BUT POWERFUL AREA HEATER WITH
DUAL MOTORS AND A LOUVERED GRILLE FOR
UNIFORM HEAT DISTRIBUTION OVER LARGER AREAS.

AIR FLOW
'AIR FLOW | \ —%

WATER CONNECTIONS: 3/4" NPT TAPPED
HOLES. (NIPPLES NOT FURNISHED)
V-CELL CORE

HV211759 HEATER PACKAGE (12V)

PART NO. AMP DRAW

HV211759

HV211488 25,312 334 5.1 24 1 " 17LBS

Sheet 10



701 ANN STREET N.W.
GRAND RAPIDS, MI 49504
$ TELEPHONE: 616-361-2681

HV211759 HEATER (12V)
HV211488 HEATER (24V)

SERVICE PARTS LIST FAX: 616-361-9646

TEMPCON

,
)
gy,
Uiy Mgy diag
:::'.JII iy
iy, B

s
i

:|
1y
iy gty 10

PART NO. PART NO.
HV220277 | HEATER ASSY - 12V 1 12 HV020803 | MOTOR BRACKET
HvV211489 | HEATER ASSY - 24V 1 13 GM446152 | WASHER #10

1 HV220275 | CASE ASSEMBLY 1 14 GM178378 | LOCKWASHER #10

2 HV223560 | HEATER CORE 1 15 GM120614 | NUT #10-32 HEX

3 HV000565 | BLEEDER VALVE 1 16 AMO083501 | FAN

4 BL001650 | 1/8 X 1/2 FOAM TAPE 14” 17 HV026848 | SCREW 1/4-20 X 5/8

5 BL001614 | RUBBER SEAL AT 18 HV020658 | CONNECTOR

6 HV020798 | MOUNTING BRACKET, L.H. 1 19 HV205423 | GROUND WIRE ASSEMBLY

7 HV020799 | MOUNTING BRACKET, R.H. 1 20 HV205447 | LEAD WIRE ASSEMBLY

8 GM445573 | SCREW #10-24 X 1/2 2 21 BL011856 | CELL FIBER 2-1/2”

9 GM271166 | NUT #10-24 X 1/2 2 22 HV020804 | BOTTOM PANEL

10 GM271172 | NUT 1/4-20 HEX 2 23 HV025482 | SCREW #8 X 1/2

11 HV210021 | MOTOR ASSEMBLY - 12V 2 *24 HV035015 | PIPE PLUG 3/4”
HV210032 | MOTOR ASSEMBLY - 24V 2 25 HV031854 | INSTR SHEET

*FURNISHED LOOSE IN PACKAGE

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.



o

TEMPCON

701 ANN STREET N.W.

GRAND RAPIDS, MI 49504
TELEPHONE: 616-361-2681

FAX: 616-361-9646

AREA
HEATER

A POWERFUL CAB OR CARGO AREA HEATER.
IT’S LOUVERED CASE PROVIDES UNIFORM

AIR DISTRIBUTION

PART NO.

HV211752

o

HV211752 HEATER PACKAGE (12V)

l BTU’S

23,438

CFM
186

AMP DRAW

3.85

VOLTAGE
12

SPEEDS | SHIP WGT

AIR FLOW

7-5/8

WATER CONNECTIONS: 1" HOSE
V-CELL CORE

18 LBS

HV210563

23,438

186

1.95

24

18 LBS

Sheet 9



HV210563 HEATER (24V) TELEPHONE: 616-361-2681

HV211752 HEATER (12V) | ﬁ’?g\n ANNSTREETNW,
SERVICE PARTS LIST “V FAX: 616-361-9646

TEMPCON

ITEM SERVICE DESCRIPTION QTY ITEM SERVICE DESCRIPTION QTY
NO. PART NO. NO. PART NO.

HV220269 | HEATER ASSEMBLY - 12V 1 12 HV023189 | TOP COVER 1

HV210564 | HEATER ASSEMBLY - 24V 1 13 HV025482 | SCREW #8-18 X 1/2 13
1 HV210580 | CASE ASSEMBLY 1 14 GM446152 | WASHER #10 1
2 HV210579 | MTR/FAN/SHROUD -12V 1 15 HV210578 | SHROUD PLATE 1

HV210565 | MTR/FAN/SHROUD - 24V 1 16 HV210475 | MOTOR ASSY - 12V 1
3 HV223586 | HEATER CORE 1 HV210032 | MOTOR ASSY - 24V 1
4 BL011856 | CELL, FIBER 2-1/2” 15” 17 HV026848 | SCREW 1/4-20 X 5/8 2
5 BL001663 | RUBBER 1/2X 1/2 2.5” " 18 AMO083506 | FAN 1
6 HV022587 | GROMMET 2 19 HV022943 | MOTOR BRACKET 1
7/ HV004108 | GROMMET 1 20 GM178378 | LOCKWASHER #10 2
8 HV000565 | BLEEDER VALVE 1 21 GM120614 | NUT #10-32 2
9 HV025673 | CORE CHANNEL 2 *22 HV035010 | PIPE PLUG 3/8” 2
10 HV205436 | LEAD WIRE ASSEMBLY 1 *23 HV005029 | NIPPLE 2
11 HV020658 | CONNECTOR 1

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.



#

TEMPCON

701 ANN STREET N.W.
GRAND RAPIDS, MI 49504
TELEPHONE: 616-361-2681

AREA
HEATER

FAX: 616-361-9646

UNIVERSAL SPACE HEATER.
CLEAN DESIGN THAT LOOKS GOOD
IN A VISIBLE LOCATION

l%

|AIR FLOW
A
/L
8-1/16
[MOUNTING SURFACE |

| [FRFon]

8-7/16

AIR FLOW

/

9

'

WATER CONNECTIONS: 5/8” HOSE
FIN & TUBE CORE

HV211368 HEATER PACKAGE (12V)

PART NO. BTU'S CEM | AMP DRAW | VOLTAGE | SPEEDS l SHIP WGT
HV211368 22,673 177 47 12 1 14LBS
HV211498 22,673 177 2.4 24 1 14 LBS

Sheet 8



HV211368 HEATER (12V)
HV211498 HEATER (24V)
SERVICE PARTS LIST

701 ANN STREET N.W.

GRAND RAPIDS, MI 49504

TELEPHONE: 616-361-2681
$ FAX: 616-361-9646

TEMPCON

SERVICE DESCRIPTION QTY
PART NO.

ITEM SERVICE DESCRIPTION QTY
NO. PART NO.

FRONT/TOP
MOUNTING SURFACE

HV211459 | HEATER ASSEMBLY - 12V 1 9 GM120614 | NUT #10-32 2

HV211499 | HEATER ASSEMBLY - 24V 1 10 GM446152 | FLATWASHER #10 2
1 HV211147 | SHELL ASSEMBLY 1 1 HV029783 | FAN 1
2 HV029131 GRILLE 1 12 HV020658 | CONNECTOR 1
3 HV210473 | MTR/FAN/SHROUD - 12V 1 13 HV018287 | GROMMET - 12V 1

HV223238 | MTR/FAN/SHROUD - 24V 1 HV004108 | GROMMET - 24V 1
4 HV210476 | SHROUD PLATE ASSY 1 14 FT200028 | HEATER CORE 1
5 HV210475 | MOTOR ASSEMBLY - 12V 1 15 HV205429 | LEAD WIRE ASSEMBLY 1

HV210640 | MOTOR ASSEMBLY - 24V 1 16 HV033239 | TOP COVER 1
6 HV026848 | SCREW 1/4-20 X 5/8 1 17 HV032838 | SCREW #8 X 1/2 10
7 RV218003 | MOTOR BRACKET 2 18 HV031854 | INSTR SHEET 1
8 GM178378 | LOCKWASHER #10 1

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to
“Accessories” in the general catalog.




, g

o

TEMPCON

701 ANN STREET N.W.
GRAND RAPIDS, MI 49504 HEATER

TELEPHONE: 616-361-2681

FAX: 616-361-9646

AREA

THIS RUGGED CAB OR CARGO AREA
HEATER IS DESIGNED TO BE MOUNTED
ON A SIDE WALL, OUT OF THE WAY.

8 -5/8

PART NO.

AIR FLOW

\

WATER CONNECTIONS: 5/8" HOSE
V-CELL CORE

HV212153 HEATER PACKAGE (12V)

AMP DRAW

VOLTAGE

SPEEDS | SHIP WGT

HV212153

22,400

236

6.8

12

2 16 LBS

Sheet 7



HV212153
HEATER
SERVICE PARTS LIST

701 ANN STREET N.W.

GRAND RAPIDS, MI 49504

TELEPHONE: 616-361-2681
$ FAX: 616-361-9646

N

= SERVICE DESCRIPTION QTY
NO. PART NO.

TEMPCON

ITEM SERVICE DESCRIPTION QTY
NO. PART NO.

HV220983 | HEATER ASSEMBLY 1 10 HV034641 | SCREW - HEX #8-18 19
1 HV221112 | CASE ASSEMBLY 1 11 HV221110 | COVER ASSEMBLY 1
2 Hv223588 | HEATER CORE 1 *12 HV035168 | NIPPLE 2
3 HV221111 | MOTOR & CONE ASSY 1 *13 RV218468 | NUT - HEX 7/16-28 1
4 HV028235 | MOTOR CONE 1 *14 HV020089 | SWITCH 1
5 HV221113 | MOTOR ASSEMBLY 1 *15 HV218054 | KNOB 1
6 GM271169 | NUT-HEX #10-32 2 16 HV020658 | CONNECTOR 2
7 HV027378 | GROMMET 1 17 HV205442 | WIRE ASSY - BLACK 1
8 HV218069 | AXIAL FAN 6” i 18 HV223609 | WIRE ASSY -RED 1
9 HV028238 | BACK PANEL 1

NOTE: HEATER ASSEMBLY INCLUDES ITEMS 1 THRU 11 & 16 THRU 18

*FURNISHED LOOSE IN PACKAGE

This package includes only those items listed above. Additional components may be required to complete
normal installation. For a complete listing of associated components available from Evans, please refer to

“Accessories” in the general catalog.




